CS351 QUIZ-IV

Question: Construct a K-d tree where K=2 using the table given below with GPA as the first dimension and age as the second dimension. Number all null pointers and draw an x-y plot showing the correspondence between regions and the null pointers.

	Record No.
	Name
	Age
	GPA

	1
	Hüseyin
	17
	3.50

	2
	Mert
	17
	2.00

	3
	Serkan
	18
	2.20

	4
	Yıldız
	18
	3.20

	5
	Ömer
	19
	2.80


Solution:




Hüseyin ( 3.50 ,17)        






Mert (2.00, 17) 








Serkan (2.20  ,18)











Yıldız ( 3.20, 18)












Ömer (2.80 ,19)
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